Bangabasi College

Test Examination—2015
B.Com., Part - 111
Economics - 1l & Advance Business Mathematics
use seperate answer screpts for each subject.

Time: 1'/,Hrs. Full Marks - 25

Use 3 three seperatc answer scripts.

1. Answer the following questions. 2x2
@ @ L o TEase )

a) What is national income ? SRR S I IE ¢

b) (Explain the difference between 'stock’ & 'flow’ concept in
macroeconomics) TS HHE THS IR &g MM s
e |

¢) What is inflationary gap 7 mrifade A

or
d) What is meant by IS curve 7 IS (X1 30F AT

2. Answer eny one questions : 6x1
A ol aeaa SEne |

a) Explain hownational income is determined in simple Keynessian

Model. e @ RefEre oA @ weeald e

A 32 |
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b) Discuss briefly the achievement and failure of fical policy.

AGTAST HFe] 6 ANREed REnofs 5w Og 3941

c) Explam graphically how .M curve write shift with the change
in money supply. mmmaﬂﬁaﬁwm,ﬁm LM Gl
PAERS T, O @EIvTEa AR P4 331

3. Answer any one questions : 15x1
T 3 SCUT TEIA WIS |

a) What is cost push inflalion ? Explain the difference between

cost push and demand pull infleations. IS F<HE I

At JAEHS AR 6 SRR afte Erdifdn o -

oAl F91

b) Discuss the theory of keynesian Investment Multiplier. What
are the limitations of the theory. (P& RfFTIY o4F g
HICAG F 1



Module - I
Advance Business Mathematics

|.Answer ny five questions: 5x5

]
a) i) Find the domain of the fuction f, where {x)= i“ !
X

ii) Show that the function f defined by f{x)=x-[x] when2<x <3
is bounded.

b) A function fis defined by
fix) =3 +2x when -1 <x<0
=3-2x when0O<x<l
=_.3-2x when x2 1
show that fis continuous at x = O and discontinuous at x=1

¢) Find the derivative of the function loge* (x>0)at any real x,
using the first principle of derivative

x+y

X—y

d) If fix,y) =
function f,

, verify Eulor'’s Theorem for the
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¢) A firm produces x units of output per week at atotal cost of

1
Rs. (5“‘] —x* +5x +3). Find the output levels at which the mar-

ginal cost and the average variable cost attain their respective
.

X
dx
f) Evaluate JZx‘-Bu’,-z
g) Prove that
l+a?-b? 2ab -2b
2ab  1-a’+b? 2a |=(1+a8’ +b?)
2b —2a 1-a’-b?

h) Solve the following system of linear equations by Matrix In-
vernsion Method :
2xty+4z=2
X+4y+2z=3
2x+3y+z=-6



